0579-0085, Introduction of Organisms and Products Altered or Produced Through Genetic Engineering								
Form Number or Other Identification	Total Annual Responses	Avg. Time Per Response	Total Hours Per Year	Federal Employee		Wage Costs	Fringe Benefits	Overhead Costs
					Wage (Step 4)	(D x (E.2)) (F x 0.613)		(F x 0.139)
(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)
Procedure for Permits & Notifications (Program Specialist)	1,500	2	3,000	GS 12	\$ 45.51	\$ 136,530.00	\$ 83,692.89	\$ 18,977.67
Procedure for Permits & Notifications (Biotechnologist)	1,500	8	12,000	GS 13	\$ 54.11	\$ 649,320.00	\$ 398,033.16	\$ 90,255.48
Procedure for Permits & Notifications (Branch Chief)	1,500	0.250	375	GS 14	\$ 63.94	\$ 23,977.50	\$ 14,698.21	\$ 3,332.87
Procedure for Permits & Notifications (Regulatory Biotechnologists GS 12-13; Regulatory Biotechnologists GS 12 or 13; Team Leads GS 13; Regulatory Specialists GS 11/12/13) - to review applications for approval purposes and to set up inspections for compliance	600	1.000	600	GS 12	\$ 45.51	\$26,376.00	\$ 16,168.49	\$ 3,666.26
Procedure for Permits & Notifications (Regulatory Analysts) - to review applications for approval and to set up inspections for compliance	450	1.000	450	GS 12	\$ 45.51	\$19,782.00	\$ 12,126.37	\$ 2,749.69
Submission of Field Test Reports (Regulatory Analysts, GS 11 or 12; Regulatory Biotechnologists, GS 12 or 13; Regulatory Specialists GS 11/12/13 - conducting inspections)	450	1.500	675	GS 12	\$ 45.51	\$29,673.00	\$ 18,189.55	\$ 4,124.54
Submission of Field Test Reports (Regulatory Analysts, GS 11 or 12; Regulatory Biotechnologists, GS 12 or 13; Team Leads, GS 13; and, Regulatory Specialists GS 11/12/13 - reviewing compliance reports received)	1,000	0.500	500	GS12	\$ 45.51	\$21,980.00	\$ 13,473.74	\$ 3,055.22
Procedure for Permit Appeal (Branch Chief)	1	4	4	GS 14	\$ 63.94	\$ 255.76	\$ 156.78	\$ 35.55
Procedure for Permit Appeal (Division Director)	1	1	1	GS 15	\$ 75.21	\$ 75.21	\$ 46.10	\$ 10.45
Procedure for State/Tribal Review (State and Tribal Liaison)	1	1	1	GS 14	\$ 63.94	\$ 63.94	\$ 39.20	\$ 8.89
Procedure for Petition (Team Lead, Communications)	6	1	6	GS-14	\$ 63.94	\$ 383.64	\$ 235.17	\$ 53.33
Procedure for Petition (Division Director)	6	5	30	GS-15	\$ 75.21	\$ 2,256.30	\$ 1,383.11	\$ 313.63
Procedure for Petition (Branch Chief)	6	32	192	GS-14	\$ 63.94	\$ 12,276.48	\$ 7,525.48	\$ 1,706.43
Procedure for Petition (Lead Biotechnologist)	6	200	1,200	GS-14	\$ 63.94	\$ 76,728.00	\$ 47,034.26	\$ 10,665.19
Procedure for Petition (Biotechnologist)	6	100	600	GS-13	\$ 54.11	\$ 32,466.00	\$ 19,901.66	\$ 4,512.77
Procedure for Am I Regulated (Team Lead, AIR)	19	5	95	GS-13	\$ 54.11	\$ 5,140.45	\$ 3,151.10	\$ 714.52

0579-0085, Introduction of Organisms and Products Altered or Produced Through Genetic Engineering						ng		
Form Number or Other Identification	Total Annual Responses	Avg. Time Per Response	Total Hours Per Year			Wage Costs	Fringe Benefits	Overhead Costs
			(B x C)	Grade	Wage (Step 4)	ÿ		(F x 0.139)
(A)	(B)	(C)	(D)	(E.1)	(E.2)	.2) (F) (C		(H)
Procedure for Am I Regulated (Team Lead, Communications)	19	1	19	GS-14	\$ 63.94	\$ 1,214.86	\$ 744.71	\$ 168.87
Procedure for Am I Regulated (Management Analyst)	19	2	38	GS-9	\$ 31.38	\$ 1,192.44	\$ 730.97	\$ 165.75
Procedure for Am I Regulated (Branch Chief, BRAP)	19	2	38	GS-14	\$ 63.94	\$ 2,429.72	\$ 1,489.42	\$ 337.73
Procedure for Am I Regulated (Biotechnologist)	19	24	456	GS-13	\$ 54.11	\$ 24,674.16	\$ 15,125.26	\$ 3,429.71
Procedure for Am I Regualted (Weed Ecologist)	10	16	160	GS-12	\$ 45.51	\$ 7,281.60	\$ 4,463.62	\$ 1,012.14
Procedure for Am I Reguated (Branch Chief, Policy)	19	5	95	GS-14	\$ 63.94	\$ 6,074.30	\$ 3,723.55	\$ 844.33
Procedure for Am I Regulated (Office of the Deputy Administrator)	19	2	38	GS-15	\$ 75.21	\$ 2,857.98	\$ 1,751.94	\$ 397.26
TOTAL								

Total Costs
(F + G + H)
\$ 239,200.56
\$ 1,137,608.64
\$ 42,008.58
\$ 42,454.80
\$ 31,841.09
\$ 47,761.65
\$35,379.00
\$ 448.09
\$ 131.77
\$ 112.02
\$ 672.14
\$ 3,953.04
\$ 21,508.39
\$ 134,427.46
\$ 56,880.43
\$ 9,006.07

Total Costs
(F + G + H)
(1)
\$ 2,128.43
\$ 2,089.15
\$ 4,256.87
\$ 43,229.13
\$ 12,757.36
\$ 10,642.17
\$ 5,007.18
\$ 1,883,504.03